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Calculus Practice: Techniques for Finding Antiderivatives 9a

Evaluate each indefinite integral. Use the provided substitution.

1) f16XSec2 (4x> +5)dx; u=4x>+5 2) f—20x4sec2 (2x>+1)dx; u=2x>+1
A) 2tan (4x> +5) + A) =2cot(2x° +1)+C
B) 2csc (4x* +5)+C B) —2csc (2x° )
C) 2cot (4x* +5)+C C) —2sec (2x° + 1)
D) 2cos (4x* +5)+C D) —2tan (2x° + 1) +
3) f—100x4cos (4’ + 1) dx; u=4x>+1 4) f25x4csc (x° = 4)cot (x> —4) dx; u=x>—4
A) —5cos (4x° +1)+C A) =5sin(x*—4)+C
B) —5sin(4x®+1)+C B) —Ssec(x’ —4)+C
C) —Ssec (4x5 + 1) +C C) —5csc (X5 — 4) +C
D) —5cot (4x° +1)+C D) —5cos (x> —4) +C
5) f24x3cos (Bx*=1)dx; u=3x*-1 6) f—10x4cot (x>=3)dx; u=x*-3
A) 2cos (3x* - 1) +C A) —2csc (X5 —3)+C
B) 2csc (3x* - 1) + B) —2In |sin (x° —3)| +C
C) 2sin(3x*-1)+C C) —2cos (x*=3)+C
D) 2tan(3x — 1) D) —2In |csc (X5—3)—c0t(X5—3)‘ +C

7) f40x3cot (5x*+1)dx; u=5x*+1 8) f—75x4csc (3x>—2)dx; u=3x>-2
A) 21In [sin (5x* +1)| +C A) =51n |esc (3%° = 2) — cot (3x° = 2)| + C
B) 2cot (5X4+ 1)+C B) —5In ‘sin (3X5 —2)| +C
C) 2sin(5x*+1)+C C) —5sin (3x°-2)+C
D) 2csc (5X4 + 1)+C D) —5sec (3X5 —2)+C
9) f—60x3csc (5x* =2) dx; u=5x*-2 10) f—4OXcot (5x2+1)dx; u=5x>+1
A) =31n [esc (5x* = 2) — cot (5x* = 2)| +C A) —41n |sec (5> +1)| +C
B) —3cot(5x*—2)+C B) —4cot (5x>+1)+C
C) —3sin (5x* =2)+C C) —4In [sin (5> +1)| +C
D) -3In ‘sec (SX4 - 2) + tan (SX4 - 2)| +C D) —4tan (SX2 + 1) +C
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4
12)[ 0 u—2xt 4 5
sec (2X + 5)

A) —5csc (2X + 5)
B) —5sin (2X + 5)
C) —5sec (2 )
D) —5cos( )

100x° 8x
13) |- dx; u=5x*-2 14 f——dx;u=x2+4
) f sec (SX4 — 2) ) cos’ (Xz + 4)
A) —5sin (5x* —2)+C A) —4tan (x> +4) +C
B) —5tan (5x*—2)+C B) —4cot (x*> +4)+C
C) —5cot (5x*=2)+C C) —4sin (x> +4) +C
D) —5sec (5x*=2)+C D) —4cos (x> +4)+C
36x° 24x
15) |-——————dx; u=3x*-4 16 f——dx;u=4x2 3
) f cos? (3X4 4) ) cos (4X2 +3) i
A) —3tan (3x* —4)+C A) =31n [sec (4x% +3) + tan (4x> + 3)| + C
B) —3cot (3X4 4)+C B) -3In ‘sec (4x? +3)| +C
C) —3sec (3x*-4)+C C) —3csc (4x2+3)+C
D) —3sin (3x* - 4)+C D) —3cos (4x* +3)+C
4 4. 5
17) f—#dx;u:5x5+3 18 f40x Sm(ix +5) sy o s s
sin (SX +3) cos (2X +5)

A) 4sec (2x° +5)+C
B) 4sin (2x°+5)+C
C) 4csc (2x° +5)+C
D) 4In |sec (ZX5 +5)| +C

A) =3csc (5x° +3)+C

B) —3sec (SX5 + 3) +C

C) —3tan (5x° +3) +

D) -3In ‘csc (SX5 + 3) —cot (SX5 + 3)| +C

20) f—#dx; u=4x*-3
sm(4X —3)

A) —41n |sec (4x> = 3) + tan (4x> = 3)| + C
B) —4tan (4x>—3)+C
C) —4cot (4x*> —3)+C
D) —4In |csc (4X2 - 3) —cot (4X2 - 3)‘ +C

19 f30xzsin (23)(3 +1) dx; u=2x>+1
cos (2X + 1)
A) 5sin (2x* +1)+C
B) 5sec (2x* +1)+C
C) Scsc (2X3 + 1) +C
D) 5In ‘sec (2X3 + 1)| +C
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Calculus Practice: Techniques for Finding Antiderivatives 9a

Evaluate each indefinite integral. Use the provided substitution.

1) f16XSec2 (4x> +5)dx; u=4x>+5

*A) 2tan (4x% +5) +
B) 2csc (4x> +5) +
C) 2cot (4x* +5)+C
D) 2cos (4x2 + 5) +C

3) f—100x4cos (4’ + 1) dx; u=4x>+1

A) —5cos (4x° +1)+C
*B) —5sin (4x° + 1)+ C
C) —Ssec (4x° + 1) +C
D) —5cot (4x° +1)+C

5) f24x3cos (Bx*=1)dx; u=3x*-1

A) 2cos (3X4 — 1) +C
B) 2csc (3x* - 1)+
*C) 2sin (3x* = 1) +
D) 2tan (3x* - 1) +

7) f40x3cot (5x*+1)dx; u=5x*+1

*A) 2In [sin (5x* +1)| +C
B) 2cot (SX4 + 1) +C
C) 2sin(5x*+1)+C
D) 2csc (5X4 + 1) +C

9) f—60x3csc (5x*=2)dx; u=5x*-2

*A) =3In ‘csc (SX4 — 2) — cot (SX4 - 2)| +C
B) —3cot(5x*—2)+C
C) -3sin (5x*-2)+C
D) -3In ‘sec (SX4 — 2) + tan (SX4 - 2)| +C

ri ghts reseryv

ed.

2) f—20x4sec2 (2x*+1)dx; u=2x>+1

A) —2cot( )
B) —2csc (2 )
C) —2sec (2x° +1)
*D) —2tan (2x° + 1) +

4) f25x4csc (X5 - 4)c0t (x° - 4) dx; u=x>—4

6) f—10x4cot (x>=3)dx; u=x*-3

A) —2csc (x*-3)+C
*B) —21In ‘sin(x5 —3)| +C
C) —2cos (x* =3)+C
D) —2In |csc (X5 — 3) — cot (X5 — 3)‘ +C

8) f—75x4csc (3x>—2)dx; u=3x>-2

*A) =5In |csc (3x° = 2) - cot (3X5 —2)‘ +C
B) —5In ‘sin(3x5—2)| +C

C) —5sin (3x* =2)+C

D) —5sec (3X5 —2)+C

10) f—4OXcot (5x>+1)dx; u=5x>+1

A) —4In |sec (SX2 + 1)‘ +C
B) —4cot (5x>+1)+C

“C) —41n [sin (5x2+1)| +C
D) —4tan (5x2+1)+C
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36x°
15) f——xdx; u=3x*—4
cos? (3X4—4)

*A) 3tan( )
B) —3cot (3x* —4) +
C) —3sec (3x* - 4)
D) —3sin (3x*—4)+C

4
17) f—#dx; u=>5x>+3
sm(SX +3)

A) =3csc (5x° +3)+C
B) —3sec (SX5 + 3) +C
C) —3tan (5x° +3) +
*D) —=3In ‘csc (SX5 + 3) —cot (SX5 + 3)| +C

dx; u=2x>+1

f30xzsin (2x* + 1)
19 -
cos (2X + 1)
A) 5sin(2x* +1)+C
B) 5sec (2x* +1)+C
C) Scsc (2X3 + 1) +C
*D) SIn ‘sec (2X3 + 1)| +C
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4
12)[ 0 u—2xt 4 5
sec (2X + 5)

A) —5csc (2X + 5)
*B) —5sin (2X + 5)
C) —5sec (2 )
D) —5cos( )

8X

14) |-————F————dx; u=x>+4
)f cosz(xz+4)

*A) —4tan (x> +4) +C
B) —4cot(x*+4)+C
C) —4sin (x> +4) +C
D) —4cos (x*+4)+C

24X
16) |-——F————=dx; u=4x>+3
),[ cos(4x2+3) o UmmeT
A) —31n |sec (4x* +3) + tan (4x*> + 3)| +C
B) —31In ‘sec (4X2+3)| +C
C) —3csc (4x?+3)+C
D) —3cos (4x>+3)+C

40x*sin (2x° + 5
18[ Xsm(x+)dx;u=2x5+5

cos (2X5 + 5)
A) 4sec (2x° +5)+C
B) 4sin (2x°+5)+C
C) 4csc (2x° +5)+C
*D) 41In |sec (ZX5 +5)| +C

32x
20) |-—F—>——dx; u=4x>-3
),[ sin(4X2—3) % X
A) —41n |sec (4x> = 3) + tan (4x> = 3)| + C
B) —4tan (4x>—3)+C
C) —4cot (4x*> —3)+C
*D) —41In |csc (4X2 - 3) —cot (4X2 - 3)‘ +C
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